Name:

Quiz: Solving Quadratic Equations

Solve by GRAPHING

1)

2x2+2x—4=0

Simplify each number or expression

3)

5)

7)

9)

=6+ 7))+ (3+30)

(2—D(=3 +60)

Solve by FACTORING

2) x24+4x—-21=0

Block:

6) i1s

8) (=54 3i) — (-8 + 2i)

10) (4-i)?
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Name: Block:

Quiz: Solving Quadratic Equations

Solve by GRAPHING |Ust caleviator) Solve by FACTORING
) b &
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Simplify each number or expression

3 V=Bl 2 V=48 Z,J

] -~ 1 ' ' ?.
5 &= Le(*) 6 i = .((*)
= L (0" ol T
=% - =L (=)
£ = -1
7). (—6+7)+B+30) 8) (—=5+3i)— (-8+2i)
“LEFir3 1 31 “943i +3 -2
"3‘\’\01 3+
v/“’. o - .
9) (2—1\)23/%;) Z 100 -9 = (4-i)(y-)
O %431 -0 i Bl T TR
~L+1i = (1) = lo-§j +)*
-t 4y = W= 5

Hl' = | F = §i



Ch4d Doy 11— Completing the Square (a)

WOorm vp - Factor twe perfeet square trinomiad S

O x*-bX +9 @ X Y+ & x*+gx+ L
(X-3)(x-3) (X+2)(X¢2) [ XAU)(XHY) &
whot # Makes tne

Trivoomial a perfect
SQuare ?

(2 )=(E)=r>1t

@ solve : Ux*+10 = 4G

- \0 ~10
.
bh("* B(o
x =T 3
EXomples ¢ Solving by ﬁ'nqu Square Rovts
EIRII N ) @) ax*49q = V3
© 3x*-5 225 ® 1 A0TEE -q %
% 49 i " S Y
Ix*= 30 XL‘% 2z 2
. W X*=(2
[0 f_"f X=t4Z
X=1,/10 X =505

b
exanples ¢ Completing e Squove Qz
M

E D x2-3x+ _\b
@ X*-wox + 29 @ x=ux+ 1. &

&ﬁ.}?—?)xz(ﬁ)": 19 L‘L%,)t’: (3)1': q [ - (— )
e Y | — [\
Comxas kg K -
(x-S X5) LXH)(XH)‘/

Ic |~ "t
H’OW\CWOH/\“ 9%33? ;S\ '} ok ;S\(,\pés (L



(h4 Ooy 1l Homnework 0983"?"*3 13 el (Skip -1,
) 4 w

3WE gatn equation by finding square roots.
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